

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SLP 9983C

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT DOOR LH	DENTED	\$883.20	\$883.20
1	FRONT DOOR OUTER STRIP LH	NOT NECESSARY	\$82.40	\$0.00
1	SET FRONT DOOR STICKER LH (BLACK)	NECESSARY	\$49.20	\$49.20
2	FRONT DOOR HINGE LH @\$49.80	NOT NECESSARY	\$99.60	\$0.00
1	FRONT DOOR WEATHER STRIP LH	NOT NECESSARY	\$94.10	\$0.00
1	FRONT DOOR FRAME WEATHER STRIP LH	NOT NECESSARY	\$89.50	\$0.00
1	FRONT DOOR INNER LOCK LH	NOT NECESSARY	\$228.80	\$0.00
1	FRONT DOOR LOCK CATCH LH	NOT NECESSARY	\$18.10	\$0.00
1	FRONT DOOR INNER TRIM BOARD LH	CRACKED	\$387.20	\$387.20
1	FRONT DOOR POWER WINDOW MOTOR LH	NOT NECESSARY	\$401.90	\$0.00
1	FRONT DOOR REGULATOR LH	DAMAGED	\$388.00	\$388.00
1	FRONT DOOR GLASS CHANNEL LH	NOT NECESSARY	\$58.90	\$0.00
1	FRONT DOOR INNER WATER SHIELD LH	NOT NECESSARY	\$33.90	\$0.00
1	FRONT DOOR SPEAKER LH	NOT NECESSARY	\$97.20	\$0.00
1	ROCKER PANEL RH (OUTER) LH	TO REPAIR SEE LABOUR	\$383.10	\$0.00
1	CENTER PILLAR (OUTER) LH	TO REPAIR SEE LABOUR	\$864.20	\$0.00
1	SLIDING DOOR LH	DENTED	\$1,105.40	\$1,105.40
1	SLIDING DOOR CENTER ROLLER LH	NOT NECESSARY	\$96.20	\$0.00
2	SLIDING DOOR ALIGN STOPPER OUTER LH @\$18.90	NOT NECESSARY	\$37.80	\$0.00
2	SLIDING DOOR LAIGN STOPPER INNER LH @\$19.80	NOT NECESSARY	\$39.60	\$0.00
1	SLIDING DOOR LOCK LH (FRONT)	NOT NECESSARY	\$819.40	\$0.00
1	SLIDING DOOR LOCK COVER GARNISH LH (FRONT)	NOT NECESSARY	\$79.20	\$0.00
1	SLIDING DOOR LOCK LH (REAR)	DAMAGED	\$250.60	\$250.60
2	SLIDING DOOR LOCK CATCH LH @\$129.40	NOT NECESSARY	\$258.80	\$0.00
1	SLIDING DOOR SENSOR LH	CUT	\$437.20	\$437.20
1	SLIDING DOOR OUTER STRIP LH	NOT NECESSARY	\$129.40	\$0.00
1	SLIDING DOOR INNER WATER SHIELD LH	NOT NECESSARY	\$289.30	\$0.00
1	SET SLIDING DOOR STICKER LH (BLACK)	NECESSARY	\$42.30	\$42.30
1	SLIDING DOOR STEP PANEL GARNISH LH	DEFORMED	\$355.20	\$355.20
1	SLIDING DOOR STEP PANEL LH	NOT NECESSARY	\$486.70	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	SLIDING DOOR LOWER ROLLER PANEL LH	TO REPAIR SEE LABOUR	\$381.80	\$0.00
1	SLIDING DOOR GLASS CHANNEL LH	NOT NECESSARY	\$169.00	\$0.00
1	SLIDING DOOR FRAME WEATHERSTRIP LH	NOT NECESSARY	\$108.40	\$0.00
1	SLIDING DOOR INNER TRIM LH	CRACKED	\$892.80	\$710.00
1	SLIDING DOOR AUTO SYSTEM MOTOR LH	NOT NECESSARY	\$921.10	\$0.00
1	SLIDING DOOR WIRE HARNESS LH	NOT NECESSARY	\$120.90	\$0.00
1	SLIDING DOOR POWER WINDOW MOTOR LH	NOT NECESSARY	\$379.40	\$0.00
1	SLIDING DOOR SPEAKER LH	NOT NECESSARY	\$288.10	\$0.00
1	SLIDING DOOR REGULATOR GEAR LH	DAMAGED	\$398.20	\$398.20
1	SLIDING DOOR LOWER ROLLER BRACKET LH (UPPER)	NOT NECESSARY	\$69.40	\$0.00
1	SLIDING DOOR LOWER ROLLER LH	DAMAGED	\$97.80	\$97.80
1	SLIDING DOOR ROLLER RAIL LOWER PANEL LH	NOT NECESSARY	\$84.50	\$0.00
1	SLIDING DOOR POWER MOTOR LOCK LH	NOT NECESSARY	\$488.30	\$0.00
1	REAR FENDER LH	DENTED	\$1,082.40	\$1,082.40
1	REAR FENDER INNER PANEL LH	TO REPAIR SEE LABOUR	\$380.20	\$0.00
1	REAR FENDER GLASS WITH MOULDING LH	NECESSARY	\$129.40	\$45.00
1	REAR FENDER GLASS FRAME INNER PANEL LH	NOT NECESSARY	\$284.30	\$0.00
1	REAR AXLE	NOT NECESSARY	\$1,336.20	\$0.00
2	REAR ABS SENSOR @\$198.20	NOT NECESSARY	\$396.40	\$0.00
2	REAR SHOCK ABSORBER @\$213.90	NOT NECESSARY	\$427.80	\$0.00
2	REAR WHEEL HUP WITH BEARING @\$410.80	NOT NECESSARY	\$821.60	\$0.00
1	TAIL LAMP LH	NOT NECESSARY	\$669.80	\$0.00
1	REAR BUMPER	TORN	\$608.20	\$608.20
2	REAR BUMPER SIDE BRACKET @\$16.70	NOT NECESSARY	\$33.40	\$0.00
2	REAR BUMPER SIDE RETAINER UPPER @\$28.20	NOT NECESSARY	\$56.40	\$0.00
1	REAR BUMPER SIDE RETAINER LOWER	NOT NECESSARY	\$39.50	\$0.00
1	REAR BUMPER REFLECTOR LH	NOT NECESSARY	\$49.50	\$0.00
1	FRONT EXHAUST DOWN PIPE WITH CATALYTIC CONVERTER	NOT NECESSARY	\$1,332.40	\$0.00
	LESS 20.00% DISCOUNT		(\$4,126.72)	(\$1,367.98)
		\$16,506.88	\$5,471.92	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT DOOR SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00	
1	SET FRONT DOOR INNER TRIM CLIP (SN)	NECESSARY	\$50.00	\$30.00	
1	SLIDING DOOR SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00	
1	SLIDING DOOR INNER TRIM CLIP (SN)	NECESSARY	\$60.00	\$30.00	
1	REAR FENDER SEALANT (SN)	NECESSARY	\$150.00	\$60.00	
1	REAR FENDER GLASS SEALANT (SN)	NECESSARY	\$80.00	\$30.00	
1	REAR FENDER GLASS INNER SEAL (SN)	NECESSARY	\$60.00	\$20.00	
1	REAR FENDER GLASS SOLAR FILM (SN)	NOT NECESSARY	\$350.00	\$0.00	
1	SET REAR BUMPER CLIP (SN)	NECESSARY	\$80.00	\$30.00	
4	WHEEL TYRE @\$480.00 (SN)	NOT NECESSARY	\$1,920.00	\$0.00	
1	SET WHEEL RIM (SN)	CUT	\$1,800.00	\$480.00	
1	BRAKE OIL (SN)	NOT NECESSARY	\$30.00	\$0.00	
		\$4,880.00	\$680.00		

Labo	ur		
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
PANEL BEATING, REMOVAL AND REPLACING PARTS. INCLUSIVE OF THE REPAIR OF ROCKER PANEL RH (OUTER) LH, CENTER PILLAR (OUTER) LH AND REAR FENDER INNER PANEL LH		\$2,000.00	\$1,200.00
TO SPRAY PAINT AFFECTED AREA		\$1,800.00	\$1,000.00
TUFF COAT		\$450.00	\$80.00
WIRING CHECK		\$280.00	\$30.00
CONDUCT WATER LEAKAGE TEST	NOT NECESSARY	\$150.00	\$0.00
TRANSFER FRONT DOOR MECHANISM		\$160.00	\$40.00
REMOVE AND REFIX DOOR WINDOW		\$200.00	\$40.00
RESET ABS LIGHT	NOT NECESSARY	\$350.00	\$0.00
REMOVE & REFIX CUSHION SEAT / UPHOLSTERY & ROOF LINING TO FACILITATE REPAIR		\$550.00	\$60.00
REMOVE AND REFIX REAR UNDERCARRIAGE	NOT NECESSARY	\$650.00	\$0.00
FOUR WHEEL ALIGNMENT		\$120.00	\$80.00
TRANSFER REAR SLIDING DOOR MECHANISM		\$160.00	\$80.00
RESET SLIDING DOOR SYSTEM		\$550.00	\$180.00
REMOVE AND REFIX REAR FENDER GLASS		\$100.00	\$50.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$	
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING		\$80.00	\$50.00	
REMOVE AND REFIX FUEL TANK TO FACILITATE FENDER REPLACEMENT		\$80.00	\$60.00	
TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC	NOT NECESSARY	\$480.00	\$0.00	
·		\$8,160.00	\$2,950.00	
GRAND TOTAL		\$29,546.88	\$9,101.92	
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$7,250.00	
Report Ref No: CS/INC24080188/Anh3e2				

TOTAL FOR SPARE PARTS: \$ 21,386.88 \$ 6,151.92 TOTAL FOR LABOUR: \$ 8,160.00 \$ 2,950.00 TOTAL REPAIR COST: \$ 29,546.88 \$ 9,101.92

#### **LWP**

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.